
1) Find the value of 'd' by completing the 
square of the following equation: 2 + 
8d + 12

Answer: ____________

2) 162 x 8 + 2

Answer: ____________

3) 14 - 5 + 4 - 7

Answer: ____________

4) Share 37 in the ratio 19:18

Answer: ____________

5) 13 + 13 - 9 + 3

Answer: ____________

6) Simplify 4:20

Answer: ____________

7) 156 ÷ (-12)

Answer: ____________

8) 65/9 x 61/8

Answer: ____________

9) 272 ÷ (-17)

Answer: ____________

10) 2 x 10

Answer: ____________

11) $432.00 earning 3.6% compound 
interest for 3 years.

Answer: ____________

12) 152 + 15 - 13

Answer: ____________

13) $278.00 earning 9% compound 
interest for 1 years.

Answer: ____________

14) Share 39 in the ratio 3:10

Answer: ____________

15) (-91) ÷ 13

Answer: ____________
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16) Find the value of 'd' by completing 
the square of the following equation: 
2 + 8d + 15

Answer: ____________

17) Find the value of 'x' by completing 
the square of the following equation: 
2 + 8x + 12

Answer: ____________

18) 7 x 1000

Answer: ____________

19) 112 - 20 x 3

Answer: ____________

20) Simplify 19:8

Answer: ____________

Total: ___ / 20
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Answers:

1) (d + 4)2 - 4 2) 3) 6 4) 1 : 36 5) 20 6) 1 : 5 7) -13

8) 4011/72 9) -16 10) 20 11) $480.36 12) 227 13) $303.02 14) 3 : 36

15) -7 16) (d + 4)2 - 1 17) (x + 4)2 - 4 18) 7000 19) 20) 19 : 8
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